2.

2+ V3 o a5 227

D v3-5 @ V3-4
@ v3-2 ® Vv3-1
VERESE
Sto] LERH?
@ 10a + 10 @ 10a + 20
@ 10a — 10 ® 10a — 20

@ V5+1
® v5-2

® V3-3

® 10a

® V5+1

HHoO X HHO =
BES o, &2 BES ST o, a0

22 a2 & o, /500 & a B AHE

2.8 | 1,673 1,676 | 1,679 | 1,682

2.9 | 1,703 | 1,706 | 1,709 1,712

@ v2.60 @ V2.72
® V2091 @ /261 —+/2.94
® V2.834++2.70

O& T V30 = 5477 & ol-gst] 2Agte ¢ &
gl A27

O +/0.003 @ /0.03 ® 0.3
@ /3000 ® /300000

7. V3=1.732 30 = 5477 < 1,/0.03 2 +/0.003 2]

TR HEEA Ax]ol] Z2?

@ 0.001732 , 0.5477 @ 0.05477 , 0.1732
® 0.1732, 0.05477 @ 0.5477 , 0.01732

® 0.1732, 0.001732

Vb5 =2236, v/50 = 7.071 & o}, /5000 o] & T
Shofet.




9. V209 AL HEZ o, 25 RES LS o, )
o] k& ShH?
5 3v5
£ ow oY
@ 2/5 ® 35
TIA}7FO 5} V8 A}Y7FO
10. V10 o] 24HHS 3.162 21 & o, 7 o] A
FohH?
@ 1.2648 @ 1.581 @ 1.6958
@ 1.8972 ® 9.486

11. AA4= 11 o diote] V11 o] A4 BES f(11) ol
F okt oS EH 3 < VIl <4 °]BZ f(11) = 3
olgtil & wll, f(42) + f(77) & &= Fstofet

12. V6 =2.449 & 1, \/0.54 o] ZAZHS JLatolat.

13. V2 = 1.414, V5= 2236 & ©, V20 — (V2 — 2V/5)
o] ZAtgte F-otofet,

14. V6 °] 25 BES o T & 1, 2(a — V6) 9] S
oot

15.5+ V11 9 A FiS 0, 257 T2 b & & 0,

a—b 9 k& Fstofzt

16. o3& AlFIEE o8t &4k V6.51 + v6.53 —
6.43 = totoiet,
TS 0 1 2 ‘ 3 4 ‘
6.3 2.510 2.512 | 2.514 2.516 | 2.518
6.4 2.530  2.532 | 2,534 | 2,536 | 2,538
6.5 2.550 @ 2,551 | 2.553 | 2,555 | 2.557
6.6 2.569 2,571 | 2.573 | 2,575 5,577

18. ot AlFZEANA /333 9] ZAEL ¢ °1 Vb =
1.817 4 W, b — a o ZHS F5toi=t

= 0 1 ‘ 2 ‘ 3

3.0 | 1,732 1,735 | 1,738 1,741
3.1 | 1,761 1,764 | 1,766 | 1,769
3.2 | 1,789 | 1,792 | 1,794 1,797
3.3 | 1.817 1,819 1.822 1,825
3.4 | 1,844 | 1,847 | 1,849 1,852




19. ZArgkol Z4+2F /o = 7.563 , Vb = 7.436 & o, th
A JFLEE 0] 835to] a — b 9] ZH& F3toizt.
= 0 1 ‘ 2 ‘ 3
55 7.416 7.423 7.430 7.436
56 7.483 7.490 7.497 7.503
57 7.550 7.556 7.563 7.570
58 7.616 7.622 7.629 7.635

20. V4.15 = 2.037, V415 = 6.442 & o}, LAzt
A g A2

filo
il
ach

@ /4150 =64.42

@ /4150000 =2037

® /41500 =644.2

@ 1/0.0415 =0.2037

® 1/0.0000415 =0.006442

21. 125 — 35 -5 o] ZAMgEL? (&, v/5=2.236 )
NG

@ —11.944 @ —5.056 ® 5.944

@ 10.416 ® 13.416
22.v2=1.414,v/3=1.732 & 1 £+L o] A4t

' ’ i T VT2 75

e A3 ot AA 2ke]7kA] FoHH?

@ 0.524 @ 0.976 @ 1.247

@ 1.862 ® 2.587

93. V6 = 2499, G0 = 7.746 & 1, \/% o] mArzrS
sfoda},

24. 29 3= AlEdR0] dFolth o] FE ©]-85]
1 2 _
(1= 7)1 A& Fefeleh (2 a4 WA A7
7] gtk
= 0 1 2
1 | 1,000 | 1,005 | 1,010
2 1.414 | 1,418 | 1,421
3 | 1,732 | 1,735 | 1,738
4 2 2.002 | 2,005
5 | 2,236 | 2,238 | 2,241

25.1/2 9 A4S 2
8 6
V32 + /045 + — + —
V2 V5

E HA YEFHHA ax + by ©]t} o]m, a x
TSHAE?

@1 @ -1




